Semester 1 Final

Version C

1A: Write each as an algebraic expression.

1) 19 decreased by y

1
A) 9 B) 19
Y
C) 19y <25 D) 19—y
3) 2°
A) the quotient of n and 2
B) 2 cubed
C) ncubed

D) 2lessthann

1B: Order of operations, evaluate each expression.

5y (1) +(-1)+6-8

A) 4 B) 12
C) —-10 D) 6
30
7) (— —) —7-(-10)
5
A) -5 B) —7
C) -3 D) -6
1E: Distributive Property.
9} 10(3n—1)
A) 30n-10 B) 90n + 27
C) ~21 - 9n D) 90n +23
11) ~7(2n—5) - 3(6 + 4n)
A) —26n+29 B) —261 + 26
C) —26n+17 D) 30n + 40

~ Name

2) 8 increased by 7

A) 8 B) 8+7
8
) — D) 7-8
)2 )
4) 12+5
A) twice 12

B) 12 increased by 5
C) the product of 5 and 12
D) 5 minus 12

6) 10— 16
(-2} + 10
A) 4 B) 8
C) 11 D) 9
) (12)(1)
-1
A) O B) -7
C) 4 D) -2
10} 2(5+—5)
A) =50 + 15 B) -2 - 12
C) =35 — 70r D) 10r—10
12) 2(1 — 6m) + 7(3 + 6m)
A) —62m + 66 B) ~62m + 70
C) —72m + 66 D) 23 + 30m

2A&B: Solve each equation Using Addition/Subtraction & Multiplication/Division

13) m—4=-24
A) {-6} B) {-96}
C) {-28} D) {-20}

15) —119=-7n
A {17} B) {833}

C) {~112} D) {-126}

14) 12=n+5

2

A) {7} B) {ZE}

C) {60} D) {17}
16) 60 =—10x

A) {70} B) {-6}
C) {600} ) {50}







" 2C Solvmgmultustep equations

17) 3 +g— =2
A) {~7} B) {11}
0 {7} D) {-9}
19) —84=4-38(b +3)
A) {8} B) {-10}
o {1} D) {-7}

2D: Selving equations with variable on both sides

21) —Tx-4=-3(x—8)
A) {13} B) No solution.
0 {-7} D) {-6}
23) 2(x - 8) =26 + 8x
A) { All real numbers. }
B) {-9}
C) {-5}
D) {-7}

T+m

18) =1

A) {~14} B) {2}

O {-12} D) {6}
20) 6(8r+3) =402

A) {12}

B) {5}

C) {8}

D) { All real numbers. }
22) 12— Tm=8(5m—1)-4

A) {12} B) {0}

¢ {7} D) {12}
24) —5(2a+7)-da=-Ta+7

A) {-12}

B) { All real numbers. }

C) {-6}

D) {6}

2F: Solve Multistep inequality and graph its solution.

25y 5(3a—2) < -85

A) 0 <5 it PP
% B>
—12 -1 -8 -6 -4 -2
B) <3 - iemiont it .
& -6 4 =2 0
C)a>6: vty & .
LF s
2 4 6 8 10 12
D)ya>-3: o+ + 4+ PR -
....... Pt
-8 -6 -4 2 0

27) 67>4(1 —5x) — x
A) x<3! ot >

0 5 10 15 20

B) { All real numbers. } | gmmmmpommmmpege-
10 15 20
C) No solution. :

S
-

4 6 8§ {0 12 14

D)x>_3: —} '$.

P T T S S T S

26) —105 <=3 — 3(4 — 6x)

A) { All real nUMDbETS. | | oo

1015
B) x> ettt Gt »
% -4 -2 0 2
C) No solution. : : ; >
% 4 -2 0 2
D) X500 g P -
........ & b
12 10 -8 -6 -4 2

28) —63 =26 — 3(1 + 4b)
A) b2-12:

16 -14 -12 -10 -3
B) 6=-24:

-30 28 26 24 -22

C) D20 ! imtemiemmpimmim@—i————>-
0 2 4 6 8 10

D) 520! it Qi
0 2 4 6 8 10







3A: Coordinate relations and plotting points

29) (-8, -6)
Ay
i x
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A) PointJ B) Point [
C) Point K D) Point L.
30) (-3, 0)
Ay
i
s
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A) PointE B) Point F

C) Point C D) Point D







31)
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.
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A) U(-4,-7) By U(-7,-4)

C) U(-7,5) D) U(4,-7)







3B: Graph usmg a table

33)) y=—x-2 7
34) —x=-1-—y
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35) 9x— 5y =25
A) Ay
S
N
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3C: Find the slope of each line.

37) Ay
--..__m___- Y
Y
A) 6 B) 1
6
1
C) —— D) -6

=Y

IA

=Y

C)

A

Y

D)

A

w Y

38)

A

wY

3
A} —
)4







39) (19, 417), (10,'3)'

20

A) ——
) 9
9

C s
) 20

3E&F: Convert to slope intercept form (y=mx-+b) if necessary and Graph of each line.

9
B) —
)20
20
Dy =
)9

1
41) y=——x-3
5
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40) 5x+2y=-8
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) -3 D)
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7
42} y=—2—x—2
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43) 8x —5y=-20 44) 2x—y=5
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Semester 1 Final

Version C

IA: Write each as an algebraic expression.

1) 19 decreased by y
19

Ay — B) 197
Y
C) 19y <25 *D) 19—y
3) 2°
A} the quotient of n and 2
*B) 2 cubed
C) n cubed

D) 2lessthann

1B: Order of operations, evaluate each expression.

5) (<1)+(~1)+6-38
*A) —4 B) 12
C) —10 D) 6

7) (— %9) ~7 —(~10)

A) -5 B) —7
*C) 3 D) -6
1E: Distributive Property.
9) 10(3n— 1)
*A) 30n— 10 B) 90 + 27
C) —21—9n D) 907 +23
11) =7(2rn—5) - 3(6 + 4n)
A) —26n+29 B) —26m +26
*C) —26n + 17 D) 30n +40

Name

2) 8 increased by 7
A) 8° *B) 8 +7

8
C) — D) 7-8
) )

4) 12+5

A) twice 12

*B) 12 increased by 5
C) the product of 5 and 12
D) 5 minus 12

16
(=2)+ 10

A) 4 “B) 8
C) 11 D) 9

8) (12)(1)

6) 10—

-1
A) 0 B) -7
C) 4 *DYy -2

10) 2(5r - 5)
A) —50r +15 B) —2r — 12
C) —35—70r *D) 10r — 10
12) 2(1 — 6m)+7(3 + 6m)
A) —62m + 66 B) —62m + 70
C) ~72m + 66 *D) 23 + 30m

2A&B: Solve each equation Using Addition/Subtraction & Multiplication/Division

13) m—4=-24
A) {6} B) {-96}
C) {28  *D) {-20}

15) =119 =—7n
*A) {17} B) {833}
Q) {-112} D) {-126}

14) 12=n+5

* 2
A) {7} B) {25}
C) {60} D) {17}

16) 60 =—10x

A) {70} *B) {-6}
C) {-600} D) {50}

Period







- ZC: Sol.\.f.ing mulﬁistep equations

17)3+§x2 18) 1" _y
A) {-7} B) {11} Ay {-14}  *B) {2}
) {7} *D) {-9} C) {-12} D) {6}
19) —84=4—-8(b+3) 20) 6(8r+3) =402
*A) 18) B) {-10} A) {12}
O {1} D) {-7} B) {5}
2D: Solving equations with variable on both sides *C) 18}
D) { All real numbers. }
21) —Tx—4=-3(x - 8) 22) <12 —Tm=8(5m—-1)-4
A) {13} B) No solution. Ay {-12} *B) {0}
*C) {-7} D) {-6} ) {7} D) {12}
23) 2(x—8) =26 + 8x 24) ~5(2a+7)—da=-Ta+7
A) { All real numbers. } A) {-12}
B) {-9} B) { All real numbers. }
C) {-5} *C) {6} |
*D) {-7} D) {6}
|
2F: Solve Multistep inequality and graph its solution.
25) 5(3a—2) < -85 26) —105 <=3 —3(4 — 6x)
FA) 0 <5 ettt A) { All real nUMDETS. } | gt :
-1z -10 -8 -6 4 -2 10 15
B) a<-3" g - B) x>-4: 4 149 foesfasmpnmnty
-8 $H 4 2 0 -6 -4 2 0 2
2 4 6 g 10 12 -6 -4 2 0 2
D)a>-3: v 2 D) >80 - G
8 6 -4 -2 0 -12 =10 -8 -6 4 -2
27) 67>4(1 - 5x) - x 28) —63 = 25— 3(1 + 4b)
a 5 10 15 20 -16 -14 -z -10 -8
B) { All real numbers. } | gt B) h2-24:
10 15 20 30 28 =26 =24 22

C) No solution. : o>
4 6 § 10 12 14

C) 020 gttt —t—t—i—t>
0 2 4 6 8 10

D) x>-3: i p e *D)b263<—4—i—|—+—e—|—m
-4 =2 0 2 4 0 2 4 6 8 10







3A: Coordinate relations and plotting poiﬁ.ts-
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3B: Graph using a table
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35) 9x—5y=25
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39) (19, -17), (10, 3) C 40) 5x+2y=-8
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3E&F: Convert to slope intercept form (y=mx+hb) if necessary and Graph of each line.
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43) 8x—5y=-20 44) 2x—y=5
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